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Create an equation to represent the situation and then solve using algebra! (Highlight for answers)
	Thirty percent of a number is eighteen.
	One-hundred fifty-five percent of a number is three thousand.

	EQ: 
         
	EQ:    
              

































Create an equation to represent the situation and then solve using algebra!
	0.6% of a number is ninety-one.
	Forty-eight percent of a number is twenty-two.

	EQ: 
         
	EQ:       
                 






































Create an equation to represent the situation and then solve using algebra!
	Seventeen percent of a number is fifteen less than seventy percent of the same number.
	Two-hundred percent of a number is eighteen greater than one-hundred twenty percent of the same number.

	EQ:  
             
	EQ:       
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1. In the table, what number should be placed in the box? n

2. Gaby lists the numbers 3, 4, 5, 6, 7, 8, and 9. In her list, the ratio of the number of
prime numbers to the number of composite numbers is

3. In the diagram, RSP is a straight line and 0
ZQSP = 80°. The measure of ZPQR is

R < P

4. The mean (average) height of a group of children would be increased by 6 cm if 12
of the children in the group were each 8 cm taller. How many children are in the
group?

5. Lorri took a 240 km trip to Waterloo. On her way there, her average speed was 120
km/h. She was stopped for speeding, so on her way home her average speed was 80
km/h. What was her average speed, in km/h, for the entire round-trip?

6. If a is an even integer and b is an odd integer, which of the following could
represent an odd integer?
(A)ab (B)at2b (C)2a—2  (D)atbi1l (E)a—b




